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o

ENGLISH VERSION

State the characteristics of an ideal cost accounting system. 14

OR
What is cost accounting ? Explain how it differs from 14
financial accounting.
From the following details, calculate the parts A and B 14
that used in manufacturing :
(1} Re-ordering level
(2) Minimum level
(3) Maximum level
4) Average level
Particulars A B
Weekly Maximum Consumption (units) 150 150
Weekly Average Consumption (units) 100 100
Weekly Minimum Consumption (units) 50 50
Ordering period (weeks) 8to 12 |4+t 8
Ordering Quantity (units) 400 600
OR

As on Dt. 1-4-2014 stock of material 'Y' is of 1000 quantity 14

at rate of Rs. 10. Purchase and issues are as following.
Prepare stores Afc. on the basis of calculation of stock
according to LIFO and FIFO methods :
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Date Quantity Price per Purchase OR
April 2014 (units) Unit (Bs.) Distribution
6 200 22 Purchase

7 1000 - Dastribution

8 14060 24 Purchase

9 1000 - Distribution

10 800 26 Purchase

11 1000 - Distribution

12 2000 28 Purchase

18 1000 - Distribution

25 1000 30 Purchase

30 1000 - Distribution

3 (@ Time allowed for completion of work is 150 Hours 8

(b)
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and time taken to complete the work is 125 hours.
Labour rate per hour is Rs. 4.80 and if material
consumed is for Rs. 350 and factory overheads are 25%

of prime cost. Find out factory cost as per Time Rate,

Piece Rate, Halsey plan and Rowan Plan.

Calculate cost of labour for a day of 8 hours from

following particulars of months :

1
@)
@)

)

o)

©)

BasiC PAY wevvvvivvieirineeeeee et Rs. 5,625
Leave Salary .....oooooooviioiieeiiciiiree v e eenreeeee e e 5%

Employer’s contribution in P.F.

(Total of (1) + (2) above) ..., 8§%
Employer's contribution in ESI

(Total of (1) + (2) above) . 3%
Cost of non-monetary benefits given to

WOTKEYS i Rs. 700
Working hours of a month ... 200

OR
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3  Following is the information regarding labour ' 14

department of Mafatlal company. Find out labour turn-over
rate and Equivalent annual rate as per speration method,

Replacement method and flux method.

(1) No. of workers as on 1-3-2015 ..oovivieiiiiieieieee, 260
(2) No. of workers resigmned .......cccooovoeieeee e 30
(3) No. of workers dismissed ......oooovvoeoeee e 10
(4) No. of workers retived ..o, 4
(8) No. of workers newly appointed ..........oocceeviieiinnnne 136

(100 workers were appointed due to the expansion plan)

(6) No. of workers as on 31-3-2015 ..oooverieeeeeeennn. 340

4 In a factory A, B and C are production departments - 14

and D and E are service departments. Following are the
details for March 2015,

Indirect Labour 1300 Rent and Taxes 5,000
Insurance 3,300 EST contribution 650
Canteen Exps. 6,000 Depreciation 16,500
Lighting Exps. 2,000 Power 9,000
Factory manager's salary 18,000

Expenses of D and E are to be distributed as under :

Particulars A B C |D| R
Department D | 20% | 30% | 40% | - | 10%
Department E | 300, 1 40% | 30% | - | -
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Other Informations :

Particulars A B C D E
Light points 5 5 4 3 2
Direct Labour (Rs.) 4500 4000 2900 1200 400
Value of Plant (Rs.) 72,000 | 48,000 | 36,000 1200 1200
Horse Power 4 6 2 . -
Space occupied {sq. i) 600 400 500 300 200
Proportion of time spent]

by manager 5 4 3 2 1
No. of employees 5 6 4 3 2

Prepare statement showing apportionment of indirect
expenses to production departments.

OR

4 In a factory almost all the works are carried out by four
uniform machines. Annual expenses of the factory are as

under :
(1) Rent and Taxes of the factory.........cccooeeeeane. RBs. 6,000
(2) Depreciation of each machine ............................ Rs. 600
(3) Repairs and maintenance (annual) ................... Rs. 960
(4) Power consumption in the factory (annual) ....Rs. 4800
(unit Rate is 10 Piase)
(3) Factory Light Bill (Annual) ... Rs. 800
6) Worker's wages : Two workers for 4 machines
salary of each Rs. 60 per month
(7) Supervisor's salary Rs. 600 monthly, Supervise
all the machines.
(8) Misc. material of factory (yearly)......ccoooiiiieee Rs. 100
(9) Hire purchase Instalment
(including Rs. 300 interest) .......ccooovviviieneenne. Rs. 1200
(10) Power consumption by machine : 10 units per hour.

Find out machine hour rate.

5 Explain advantages and disadvantages of cost Audit.

OR

5  (ive the reasons for disagreement hetween the profits

as shown by cost and financial Account.
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